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Unit: 2 Page: 35
Question ‘ 1

35 :daial) 2 :3aa gl
‘ I igead)

What is the value of the digit 8 in the
number 28,124?

928,124 23l 3 8 a8 ) dad La

A 8
B 80
C 800
D 8000
Question 2 J) el

What is the value of the digit 4 in the
number 1,4897?

91,489 2l A 4 280 dad L

A 4
B 40
C 400
D 4000
Question 3 J) el

What is the relationship between the
values of the underlined digits?
16,852 and 14,674

hd Lgiad Al a8 ) asd o ABSad) La
16,852 514,674

A 6000 is 10 times as much as 600

B 6000 is 100 times as much as 600

c 6000 is 1000 times as much as 600
D 6000 is 10,000 times as much as 600

1




Unit: 2 Page: 35

35 :dadal) 2 rbaagll

Question 4

I

What is the greatest and least

aladialy o gli) dliCay ) jiua¥l g SY) and) o L

number can you create using the 3Uanall ald )Y
given digits.

3,5,8,and 9 9589553
A 5,983; 9,385

B 9,538; 3,985

C 9,853; 3,589

D 9:853; 5,983

Question 5 N igaad)

What is the relationship between the
values of the underlined digits?

hd Lgiad AN a8 Y add cp dB3ad) La

3,735 3,735
A 3000 is 10 times as much as 30
B 3000 is 100 times as much as 30
C 3000 is 1000 times as much as 30
D 3000 is 10,000 times as much as 30
Unit: 2 Page: 53 53 ;dadal) 2 :daa gl

Question 6

I

In which number does the digit 2
have a value that is ten times the
value of the digit 2 in 12,7387

il 3 pde (5 sbuad 2 a8 N1 dad (%5 220 i
12,738 (8 2 bl dadd

A 26

B 215

c 2,387
> 23,901




Unit: 2 Page: 53 53 :daiual) 2 :Baa gl

Question 7 J) el
What is the value of each digit in the £34,856 2aall 38, JS 4 L
number 34,8567
4: L]‘ Ce])
8: 8 O D
é: 6
3: :% O/ CDO
d: 50
Unit: 2 Page: 47 47 hadal) 2 :3as gl
Question 8 N igaad)
What is 487,309 rounded to the G ) G & 487,309 2l oy i il & \;
nearest thousand? |
A 500,000
B 490,000
c 488,000
D 487,000
Question 9 J) )
What is 95,550 rounded to the A S i 95,550 2aell i S L
sCali 3 ie
nearest ten thousand?
A 100,000
B 96,000
c 95,000
D 95,600




Unit: 2 Page: 47 47 :Aaial) 2 :daa gl
Question 10 J sl
What is 95,550 rounded to the Al G 585 95,550 2aall a8 il s L
Sy 5 de
nearest ten thousand?
A 90,000
B 100,000
c 96,000
D 95,500
Question 11 J) el
What is 132,847 rounded to the QA ) i 132,847 2al) & c—\l-; 3:1 ;
nearest thousands? -
A 132,000
B 132,800
c 130,000
D 133,000
Question 12 JI gl

Some astronavuts will fravel to the

moon, which is 238,855 from earth.

About how many miles will the

CF e oA ) ) pldadl) 3l g ) Qlany sl g

.238,855 (!

sladl) 3l g Lgadaions AN Jlna¥) 23 o 85 58 La

astronavuts travel there and back? ULl Llad
A 240,000 miles
B 200,000 miles
c 360,000 miles
D 480,000 miles




Unit: 2 Page: 53

53 :dadal) 2 :3aagl)

Question 13

I

Sara has about 3,000 dirhams in her
saving account. What could be the
exact amount in her saving
account?

sl e i Ly 55 b 5 3000 Vs Ll 5 e
sl A aal sl gl )5S 3 L s Gl
e Lalall

A 3,234

B 1,736

2,258

937

Question 14

I

What is 392,483 rounded to the

nearest thousands?

YY) Qo ) w5 392:483 s L

A 391,000

B 392,000

400,000

393,000

Question 15

sl

Whatis 392, 483 rounded to the

nearest hundred thousands?

tall e il U 5% 483 <392 4 L

A 391,000
B 392,000
c 400,000
D 393,000
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61 :daiall 3 :daagl)

Question 16 N gl
Estimate the sum. & sanall i
3,783+ 1,416 3,783 + 1,416
A 5,200
B 4,200
c 2,400
D 2,200

Question 17 I gl
Estimate the sum. & sl o 8
3,155 + 2,205 3,155 + 2,205
A 5,500
B 6,000
c 5,400
D 7,000

Question 18 e
Estimate the sum. & sl o

Use front-end estimation.

Front-end estimation aaaiu

4,228 + 986 4,228 + 986
A 4,500
B 4,000
c 4,900
D 6,000




Unit: 3 Page: 61

61 :dadal) 3 :daagl)

Question 19 N gl
Estimate the difference. Gl G g
8,303 - 2,789 8,303 - 2,789
A 5,400
B 5,800
c 6,200
D 5,500

Question 20 s
Estimate the difference. Bl B
Use front-end estimation. Front-end estimation i)
9,875-4,9468 9,875-4,968
A 2,000
B 4,000
c 5,000
D 6,000
Unit: 3 Page: 62 62 :daial) 3 :baagl)

Question 21 N gl

A school district has 1,578 students
last year. This year it has 2,138
students. Mahra says that the
number of students increased by
over 500. Is her statement
reasonable?

o) el 3 G 1,578 dalaill dikaiall asd

OOl aae () 3 e s Lk 2138 Leaal alall 128

¢ sina Lgay o Jgd il 500 e 31

A Yes, it is reasonable.

Jsinall (b can

B No, it is not reasonable.

sl (ga Y




Unit: 3 Page: 62 62 :daial) 3 :daagll
Question 22 I el
Saif helped calculate the weight of o) Al Aaih lraa (e Gl 035 ol 8 2o li (o

two northern fur seal pup. What is a
reasonable estimate of the weight?

f00s0 Jstnall il 58 Le ddladl)

8,250
A 16,700
B 15,100
c 16,100
D 16,000

Unit: 3 Page: 71

What is the sum? Use an algorithm to solve.

1. 4,380 2. 12,943
4 612 + 4,036
IR 16939

4. 8,405 5. 7364
+ 1,571 4+ 2,321
TR975 ECZT

3.

6.

71 sdaiall 3 rsaagl)

42,818
+ 7120

49932

4,129
+ 2,530

£ 659




Unit: 3 Page: 71 71 :dadall 3 :daagll

Question 23 J sl
A business purchased a copier for 1953 1,217 Jilia g geci AT S8 (53 < A
$1,217 and a laptop for $761. How 1993 761 Jilha ¥ sana yiguas Sl g LS yal
much did the business spend on NS Ao A8 il 45885 1) fliall Le Sy sal
both items? Sl
A 1,388
B 1,387
C 1,978
D 1,678

Question 24 ) gl
A factory made 64,457 car parts in o Gl L dakid 64,457 il plas ald
the first three weeks of the month b dakd 3 5029 « gl e oY) AN alad)
and 3,502 car parts in the fourth adad 2ae aS el cra il £ sl B )

week of the month. How many car a1 ) B adiaddl Lgaia Al i ) e
parts did the factory make in the four

weeks?

A 67,859

B 66,959

c 64,859

D 67,959

Unit: 3 Page: 72 72 :4aiall 3 daagl

Question 25 Vs

A band is played two concerts with a Laddi 9698 (Alea) Jguany (pilia 43 A djas
total attendance of 9,698 people. The 220 oS jgal) sh Ladd 4467 43l Jg¥) Jiad
first concert has 4,467 people is AN Jaad) 1 g puan cpdll (aldiY)

aftendance. Hoe many people
aftended the second concert?

A 5,231
B 5,387
C 5,263
D 5,336

10




Unit: 3 Page: 72 72 :daial) 3 ibaagll

Question 26 I el
A ship studying marine animal ddlie 4 sl ) gl Cile gama (o )i m < il
populations traveled 1,183 mile on Ad) il \giaga s dsY1 el 8 3e 1,183
the first part of its mission. The ship will el Lo Lgiage JSY (s Al Be 815 dilise
travel another 815 miles to complete Phagall oda 4 Andul) Lgadatin Al Adllaay)

its mission. What is the total distance
the ship will travel on this missione

A 1,999
B 1,998
c 1,110
D 1,280
Unit: 3 Page: 75 75 dadall 3 :dasgl)

What is the sum? Use an algorithm to solve.

X0 @{2@

1. 1,458 2. 4,239
+ 926 4+ 765
2534 = ooy

0 1 0

3. 2,744 4. 4,827
+ 1,306 + 3,505
4o 50 9 332

QY QW
5, 9,087 6. 12,058
+ /668 + 4,867

\6,359 \69 25




Unit: 3
Question

Page: 75
27

75 daial)
I iguad)

3 :daa gl

A car manufacturer has made 4,569
cars do far this month. They will
make 5,286 more cars this month.
How many cars will they make this
month?

OV i Bl 4569 &l b gial 48 )l calia
13a ddlia) 8l 5286 (grivay gy L gl 138
¢ ) 138 gt griia (Al G jld) d3e a8 | el

A 9,835
B 9,378
C 9,855
D 9,385
Question 28 J) el

Zayed had 1,425 trading cards in his
collection. He traded many cards
and now has 395 more cards than he
started with. How many trading cards
does he have now?

pld A1 dle gana A J gl Ay 1425 31 s O\S
AST A8y 395 (Y Agaly clBlagd) (e paad) )y
SOV gl Jglail) clbday dae aS 4y fay Laa

A 1,820
B 1,388
C 1,710
D 1,700
Unit: 3 Page: 76 76 dadal) 3 ssaagll
Question 29 N igaad)
Find the missing digit. A g8iall a8 )1} 2a
2 11 9
+ 8 4 5
22004
A 5
B 6
c 7
D 7

12




Unit: 3 Page: 83 83 :daiall 3 thaagl)

What is the difference? Use an algorithm to solve.

1. 1,558 2. 53,720
— 247 _ 33,400
V5 0 20,320
3. 4964 4. 48,579
— 2,803 — 4222
21 6| U4, 3572
B. 12,923 6. 2,646
_ 10,712 — 1,335
QLU 173\1
7. 7438 8. 267982
— 5,225 — 132,580
20 2 135, 402

13



Unit: 3 Page: 83 83 :daiual) 3 :daagll

Question 30 J sl
Addie and her family are driving to L AR sl ) agd) b (el Lgalile 5 o
Florida to see her grandmother. The Sa 365 Adluwe | gald ail J 1,387 KJ?JS\ AVLIEN
trip is 1,387 miles. They drove 365 38l 48 0al) JLaY) d3e aS oY) agal) B

miles the first day. How many miles
are left to drive?

A 1.037
B 1,022
C 1,122
D 1,222
Unit: 3 Page: 84 84 :daial) 3 :daa gl
Question 30 Ve
A summer camp is building new ) 8831 B Baaa (LS £l hunall adall o5y
cabins. They spent $2,789 for wood G asial) Juasy @l sidly quadd) o 15352 2789
and tools to complete the project. (Avall adall 388) aS 17¥ 93 1024 &) gaY) ASISS
The tools cost $1,024. How much did fuddll e
the summer camp spend on wood?
A $.1,576
B $1,385
C $1,765
D $1,763
Question 31 N igaad)
Find the missing digit. A g8iall a8 )1} 2a
2 7 4
+ 1 20 4
1 5 4 1
A 4
B 5
c 6
D 9

14
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87 :daial) 3 :3aagll

What is the difference? Solve using an algorithm.

¢
1. 7570
— 453
K

oll 41
121580
_ 7983
5061

AL

=, ﬁ?ﬂz

1954
a3 e+

1
7 6,805
— 4,782
L.023

15

4 q %
2. 33071

— 2,893
g

5 1

4.  4138p
— B33
1349

¢\ q
6. 1721005

— 48,273
03,332

9
8. ¥iodm
— 771245
9,739




Unit: 3 Page: 91 91 :daiual) 3 rhasgl)

Question 32 JIgeadl
Jamar needs sequins for costumes Zling A e o s s LY JUAN ) e glias
for a school play. The queen’s Alall o) gling I AN (e dakd 3250 M) Aslal)
costume needs 3,250 sequins. The glay Aslall 55 cpe ST AN (e dakdd 1750 )
king’s costume needs 1,750 more 5 O BB JAY (e dadid 750 A 7 gl 6
sequins than the queen’s costume. CADAY £l 3B jan Aaliad G4 AL aae a8 dASlal)

The jester’s costume needs 750 fewer
sequins than the queen’s costume.
How many sequins does Jamar need
for all three costumes?

A 12,380
B 12,000
C 12,500
D 12,389
Question 33 JIpud)
There are 550 students eating lunch da 3 (3hlia o) B o108 el slity Lia 550 <uia
in four different picnic areas of the Qslgbity cpll) Clall dae a8 ) gaat) Afyaay A4lid,
zoo. How many students are eating ¢ sisaMill dihiia azlaa A plard) g

lunch at Flamingo Feast?

Picnic Area Number of Students

Giraffe Jump 217
Manatee Munch 138
Gorilla Garden 97
Flamingo Feast ?
A 89
B 95
C 100
D 98

16
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91 :4aiuall 3 :3aagll

Question 34

gl

An art teacher had 140 jars of paint.
In the first half of the year, her
students used 95 jars of paint. The
teacher bought 36 more jars of paint.
At the end of the year, she had 15
uvnused jars of paint. How many jars
of paint did her students use in the
second half of the year?

29 shN (e B o 140 058 uua g S

(8 95 Ll addiia calad) (a Jg¥) il

Llgs By s Al 3 B a 36 alrall 5 ikl skl
e L deddin pé ¢33 15 Ll GlS caladl

0 (A Chuall) b LDl Lgarii) (1 o3} 3

alal

A 63
B 65
C 68
D 62
Question 35 J) el

The cafeteria distributed 940 cartons
of milk at breakfast and 1,670
cartons of milk at lunch. The
cafeteria 7,036 cartons of milk at the
end of the day. How many cartons of
milk did the cafeteria have at the
beginning of the day?

Sy o cula 45558 940 gt Lwlsl) culd
- L) by gl Ao qula 4538 16709
ligi S s aS o gl) dilgd 8 cula 4355 S 7.036

Tagal) Aylay A Ly blsl) Lgy giad Cuils Al qulal)

A 9.389
B 9.646
C 384

D 2,610

16




Unit: 3 Page: 92 92 :daiual) 3 rhasgl)

Question 36 N el
An ocean engineer used a sonar il U gudl ol cllaiaal) pudiga 3a addial
system to count fish populations of 358 oS eyl a lpml @l (B dland) Sl
four schools of fish. a guaa) al Al cllad)

How many fish were counted?

School Number of Fish

1 234
2 536
3 1112
4 189
A 2,498
B 2,071
C 2,389
D 2,701
Unit: 4 Page: 107 107 :dadal) 4 :33a )
Question 37 J) el
Which statement can be represented Gilual U gud) ol cllaaal) pwdiga 3a addia
by the equation 3 x 9 = 27? e a8 dlaul) (pa ol il gl (B dlan) dasi
ol slaa) ai Al dland)
A 3is 3 times as much as 27. 27 <ilaal 3 4 3
B 27 is 9 times as much as 9. .9 Cilaal 9 54 27
C 3is 9 times as much as 27. 27 Glxni 9 a3
D 27 is 3 times as much as 9. .9 Cilaal 3 58 27
Question 38 J) el
Which statement is true? fhama il lal)
A 9 is 2 times as much as 18. A8 il 2 2 9
B 18 is 2 fimes as much as 9. 9 i 2 18
C 92is 18 times as much as 2. 23 18 » 9
D 2 is 9 times as much as 18. 18 il 9 (5 5k 2

17
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107 :4aiall 4 3l

Question

39

Iyl

Which multiplicative statement is
correct?

fdana b e g‘

Stick A NN
Stick B NS BEEE BEEE

A 12is 3 times as much as 4 4 Glanl 3 412
B 3is 12 times as much as 4 4 Cilaal 12 2 3
C 4 is 3 times as much as 12 12 Cilaal 3 5 4
D 12is 12 fimes as much as 3 3 anna12 12
Question 40 J) el

Which multiplicative statement is
correct?

B 2 cubes

fdana b e Lgi

eisie s isismeeren 10 cubes

10 is 4 fimes as much as 2.

2 il 4 2 10

10is 3 times as much as 2.

2 Gl 3 2 10

10is 5 times as much as 2.

2 il 5 52 10

oO|lO0|%|>

10is 6 times as much as 2.

2 Glexi 6 2 10

Question

41

O gl

What equation can be used to
represent the multiplicative

comparison statement 24 is 4 times

as much as 6?

4 jliad) 5 le Sl Lgaladin ¢Say Al Aalaall La
6 Cilrdl 4 & 24 diclaal)

A 4+6=24
B 24-6=4
C 24x4=56
D 4x6=24

18
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Question 42 J )
Sarah and Mark are looking at the A50 = 90 x 5aaall ) & lag B b (o JS b
equation 450 = 90 x 5. Sarah says it 5 Cinia 90 5 sl 450 O (a4 B b s
means 450 is 90 times as much as 5. .90 Cileal 5 5 sbuw 450 O (Ax L) & e J i
Mark says it means 450 is 5 times as @ o O
much as 90. Who is correct?
A Sarah Bl
B Mark e
C Both are correct. e L3S
Question 43 J) )
What statement fits the following R | [ D | UV i | - PP O
representation?
A 61 is 4 tfimes as much as 4.
B 16 is 3 tfimes as much as 4.
C 4is 16 times as much as 4
D 16 is 4 times as much as 4.
Question 44 J) sl
What equation fits the following ¢ AN Jiiall s Al Adabaall e

representation?

A 6=12x2
B 12=2+6
C 12=2x6
D 6=12+2

19
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108 :4aiuall 4 :3asgl)

Question 45

I

Welding fuel comes in bottles of
many sizes. The smallest bottle
weighs 8 pounds, and the largest

yual puae plaal clala y alall g Al
Cilaal 9 i dala ) Sy (JaJl 8 i dala )

O e graia il Ll i€y il Asbaal) Lo elld

bottle weighs 9 times as much. What ¢ SV dala )
equation can you write to show how
much the largest bottle weighs?
A 9x8=72
B 9 X8=28]
C 9+8=17
D ?2+8=18
Question 46 JI gl

Ahmed plants a garden with 4
tomato plants, 3 times as many
pepper plants as tomato plants.
What equation represents the

Cilaal 3 (51 cablals il 4 Lo ddas 2l & )
Lo akladall il 853 s sall Jalil) il e
90 ,lial) Jiad i) kel

comparison?

A 3x4=15

B 3x4=12

C 3x4=11

D 3+4=7

Unit: 4 Page: 111 111 :daiall 4 :3aa )
Question 47 e

What equation represents the
following statement?

T 5 laall Jias 3 Alsad) L

8 more than 4 4 o 5SI 8
A 4x8=32
B 4+8=12
C 4x8=12
D 12+4=8

20
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Question 49 N gl
What equation represents the Ll 5 Hladl Jiad ) Aaladll e
following statement?
5 times as far as 10 miles. Jadd 10 L3 @l e 5
A 5+10=15
B 5x10=250
C 5x10=1255
D 50x10=5
Question 50 Vs

A small bridge is 40 feet long. A new
bridge is 3 times as long as the small
bridge. How long is the new bridge?

2ol juall Joba iy L8 40 alsh iy e jus
faal) juall ol oS jall juall Jsh Gl 3

A 3x40 =120
B 3 x40 =150
C 3+ 40 =43
D 40-3=237
Question 51 JIgudl

Mahra has 8 pencils in her school
box. Mariam has 4 more pencils than
Mahra. How many pencils does
Mariam have?

ev&\dméﬁﬂwﬂ\wu‘)eﬁ\4(x\f
€ yo LS 31

A 4x8=32
B 8+4=12
C 8-4=4
D 8+4=2
Question 52 JI e

Reem is 5 feet tall. The tree in her
backyard is 4 times as tall as Reem.

g_s.zgﬁ,msﬁm\djla@?_exﬁiswdjkgg
Jsb @y oS ) Jsh Cilaaal 4 L jual sl oLl

How tallis the tree? 5 il
A 4+5=9

B S5—-4=1

C 4x5=20

D 4x5=15 21
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Question 53 BT
Ameer planted é plants. David 28 Cilaal 5 abin g ) il 6 4e) )3 el o8
planted 5 times as many. How many fain Lee ) Al Alilall sae oS sl
plants did David plant?

A S5+6=11
B S5Xx6=35
Cc 5x6=30
D S5+6=15

Question 54 BT
A cat tail can be 10 inches long. A ey ha s 10 G adadll Jd Jsh Jeay O (S
lion’s tail can be 3 times as long. Jsb iy oS Cileal 3 L 2 dd Jsha daay
How long is the lion’s tail? .Y
A 10-3=7
B 3x10=230
C 3x10=33
D 3+10=13

Question 55 Jsudd)
Which comparison statement ¢ =7 + 9 bl Jici 4 jlin 3 e

represents the equation9+7 =7

A 9 times as much as 7

7 more than 9

B
C 7 less than 9
D

7 times as much as 9

29
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138 :dadal) 5 :3aagl)

Question 56 J)aead)
Which of these numbers are prime faalgf dlaef 58 2ac ¥ eda (ge
numbers?

A 8
B 19
C 33
D 45
Question 57 J) )

Is the number 3 prime or composite?

S8 e al Aol 3 aaall Ja

A Prime B

B Composite Sl e
Question 58 J) el

Is the number 24 prime or S8l e ol sl 24 2220 o

composite?

A Prime sl

B Composite Sl e
Question 59 N igaad)

Is the number 15 prime or S8l e ol Aol 15 2220 Ja

composite?

A Prime Bh

B Composite Sl e
Question 60 INigaad)

Is the number 31 prime or Sls) e ol (Aol 31 2aall Ja

composite?

A Prime &

B Composite Sl e
Question 61 INigaad)

Is the number 2 prime or composite?

Sls) e al sl 2 ) Ja

Prime

o

Composite

Sl e
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Question 62 J) el
Is the number 87 prime or S5 e al sl 87 222l Ja
composite?
A Prime &
B Composite Sl e
Question 63 J) )

Is the following statement true or
false?

All even numbers greater than 2 are
composite.

Skl o) dapaa 40U 5 Hladl Ja

A True dasaa s jlall
B False dania ye b lall
Question 64 I gead)

Is the following statement true or
false?

Skl o) dapaa 40U 5 Hladl Ja

1is a prime number. shsl e 58 1

A True daania b Ll

B False dasnia ye b lall
Question 65 J)gead)

Is the following statement true or
false?
All odd numbers are prime.

Skl o) dagaa 40U 5 Hladl Ja

3.,3]}\ a0 il dac Y e

A True daania b Ll
B False daia e b lall
Question 66 gl

Is the following statement true or
false?
All even numbers are composite.

Skl o) dagaia 40U 5 Hladl Ja

A e don s 0 HBLY) e

A True

Z»A;'AMSJL}’J\

B False

:\Aﬁu‘)ﬂﬁg‘)l__\d\
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Question 67 I igaad)
Which number is a multiple of 4? 4 8 Cliclias e sl A8 58 L
A 21
B 33
C 44
D 56
Question 68 el
Which number is a multiple of 9? 9 o) Clieliaa (o ) 8,11 g8 L
A 21
B 36
C 44
D 56
Question 69 e
Which number is a multiple of 7? §7 ) Slieliaa e ) 811 g8 L
A 21
B 36
C 44
D 54
Unit: 5 Page: 147 147 :dadal) 5 :3aal)
Question 70 A
What is the next three numbers in the il 8 400 2000 Jlae ) a L
pattern?
12, 20, 28, 36, ,
A 44, 53, 61
B 45, 53, 61
C 44, 52, 60
D 45, 52, 50

25
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Question 71 J) el
What is the next three numbers in the Shaail) & 40l &50E0 slac ) 4 L
pattern?

4,8,10,4,8, : :

A 12,16, 20
B 4,8,10
C 10,12, 14
D 10, 4, 8
Question 72 J) el
What is the next three numbers in the Shaaill 8 400 230N slae ) 4 L
pattern?
2,4,8,16, 32, , f
A 36, 40, 44
B 34, 36, 38
C 64,128, 256
D 64, 126, 130
Question 73 J) sl
What is the next three numbers in the thall 8 400l DA JaeY) L
pattern?
36, 30, 24, ' '
A 17,13,7
B 20,16, 12
C 18,12, 6
D 18,11, 5

26
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Question 74 J) gead)
Complete the equation. Alalall JSi
4 x 200=
A 4x20x 100
B 4x4x100
C 4x2x100
D 2x2x100
Question 76 Jsad
Complete the equation. Alalad) JaSi
7 x 300 =
A 7 x3x 100
B 7 x 3 x 1000
C 70x 3 x 100
D 7 x30x 100
Question 77 J) )
Complete the equation. Alalad) S
6 x 600 =
A 2,400
B 36,000
C 3,600
D 3,000
Question 78 J) el
Complete the equation. Adabed) JuSI
9 x 7,000=
A 63,000
B 60,000
C 70,000
D 56,000
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Question 79 Vs
Estimate the product. o
247 x 7 =
A 1,200
B 1,400
C 1,2000
D 1,4000
Question 80 Jsad
Estimate the product. ) 8
396 x 8 =
A 3,200
B 2,400
C 2,000
D 1,800
Question 81 J) el
Estimate the product. ol g
5x448 =
A 20,000
B 2,000
C 2,500
D 25,000
Question 82 I gaad)
Estimate the product. R U
3,456 x 2
A 8,000
B 6,000
C 12,000
D 6,000
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Question

83 Vsl

A school cafeteria serves 2,750
lunches each week. About how

Lo g sl S elag dun 5 2750 A 2l Ly 8IS o
4 A e 2 Al elaall Gila g e g8

many lunches are served in 4 ¢l

weeks?

A 10,000

B 8,000

C 12,000

D 14,000

Unit: 6 Page: 172 172 :4aiall 6 :3aall
Question 84 I igaad)

The school store has some boxes
containing school supplies.
About how many notebooks are

g 1500 e
33 92 gall Al 22e oS g

there? Number :fui:::sr
of boxes in a box
Notebooks 9 28

Scissors 8 275

Pencils 3,830
A 180
B 270
C 252
D 276
Unit: 6 Page: 175 175 :daial) 6 :daa gl

Question 85 N igaad)

Use distributive property to find the cpall @ e gall a5 gl Apald aadi
product. 3x 14

(3x10) +(3x4)=98

(3x 10) + (3 x 4) = 42

(3+10) + (3+4)=20

OI0(%|>

(3x10) + (3x 4) = 65

28
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Question 86 Jsad
Use distributive property to find the opall w6 Je ) siall g gl duals andiul
roduct.
° 5x17
A (5x10)+ (5x7)=85
B (5x10)+ (5x7) =83
C (5+10)+ (5+7)=27
D (5x 10) + (5x7) =36
Question 87 Jgad
Find the product. pall Zl e el
4x15=
A 48
B 36
C 60
D 54
Unit: 6 Page: 175 175 :dadal) 6 :3aa gl
Question 88 Ve

A stock room has 4 shelves. Each
shelf can hold 14 boxes. How many

Ol G IS (R )1 4 e G Al A 2 (g sias
e 33 Sy Al Galiall sae oS B a0a 14 Jesy

boxes can be stored on the shelves? frag)ll e
A 48
B 54
C 56
D 44
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How can you write the number in standard form?

1. Four hundred thousand, nine hundred thirty Ll ley, c13 Q

2. Thirty-four thousand, nine hundred eighty-nine 3'41 0‘\30\

How can you write the number in expanded form?

3. 530,879
500,000 + 30,000 + 80O + 70=x 9

4. 6,216
Cooo + 200 + O+ 6

How can you write the number in word form?

5. 205,782
Two lnumdreol five H’)O\Aﬁomci, Seven huwcifec(

cighty- two
6. 1,108,308

One million, one hundresl eiq\ﬂjt 'Hao%cmo(; theee
bundred eigh’:-

30
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9. Which number represents sixty- 14. Which of the following are
twio thousand. four hundred different ways to represent the

ninety-five? Choose the correct number 40,3817 Choose all that

apply. (L 2-2
dNSWET (Lesson 2-2) PPYY. {Lesson 2-2)
A. 4000 + 300 + 80 + 1

A. 620495
B. Forty thousand, three
B. 62495 hundred eighty-one
C. 62495 C. 40,000+ 300 + 80 + 1
D. 62400095 D. Four thousand, three hundred

eighty-one
E. 40,000+ 3,000+ 80 +1

F. Forty, three hundred
eighty-one

12. What is the word form of 9,2847
(Les=zon 2-3)

Unit: 2 Page: 43 43 :daial) 2 :3aagll

How can you compare the numbers? Complete with >, <, or —

1. 5_593@ 25,889 2. 123710 @ 12371

3. sza,gm@ 628,800 4. 709103 r; 4) 709130
5, 6.21?@&241 6. 43829( ;‘* 43,598

31
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Is the comparison true or false? Explain your reasoning.

7. 1,780 < 1,780 8. 720,301« 720,031
_—
[rue Y a [se
9. 34,646 > 321,446 10. 24,747 < 24,774
.
ra se Itue

A A A LA A LA A LA A A A A LA A LA A LA A A A A A A A A AL LA A LA A LA A LA A LA LA A AL A A LA A A A A A AL AL AL A LA A A A A A A A AL AL A A A A A A A A LA A LA AL AL AL A A A A A A

11. Rebecca knows her number is greater than 15,724 by looking at
the digits in the tens place. What could be Rebecca’s number?

Justify your answer. |5 1—_} 9) L_{ Q | 5, ?3 L_j

Unit: 3 Page: 67 67 :daiall 3 daagl)

Use partial Sum

1. 2,582 1+ 493 = 2. 4761+ 8719 =

L

2 +3=5 2000 & +9=15 2000
g0 +a0 = \10 e |6 +30=80 1 189
= 9060 V32 oo= )00 g8
500 + Yoo = 9 5 Hoo +7F . tS
2006 + O =20°° 30715 Qooo + 028020 QIS5

3. 1,945 4 3,289 = 4. 12017+ 5,308 =
5+ =Y Y 00S 7 +838=15 | 000
0 + Lo =120 \ 100 ox0 =10 7?23
Yoo + 200 = \1 00 l’lg’ 6 & 300 =309 ) o
4 2000 x So02=100S =

000 4 3o = oo —
Hq 5 234 1o,ooo+0=[‘9'°°° ]7—3’2_5



Unit: 3 Page: 67 67 :daiall 3 :3aagll

) 7
5. 26,118 6. 47621 7. 101353
+ 11,043 + 21,345 + 27,285
37:‘6' éﬂ,ﬂéé 128533

8. The indoor water park had 10,242 visitors in January and
11,495 visitors in February. What was the]totaljattendance

for the two months? N | q =
T lozuz
21 23%

9. Extend Your Thinking The book bank collected 13,962 books
last year. This year it collected 15,185 books. The book bank
expects to collect about the same number of books next year

as it did this year. About how many books will be collected all

three years? Explain your answer. | 3 @é 2 + )6@35 + 19,125

15383 I 0 00 +15000 r 1509°
15000
,C
\V/
Unit: 3 Page: 68 68 :dadal) 3 aagl)

10. How can you add 11,864 + 9,599 by adjusting the addends?
Show your strategy. | |

- \
\\/863 + ‘l,éog = 24673

11. Error Analysis Macy completed the problem below. How can
you help Macy understand her error and find the correct sum?

5,331
+ 2,702
>
20
1000
7,000
A 33
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How can you decompose to subtract? Find the difference.

1. 2532 —1301= 2. 6489 —2472= L// 0] 7_

2-/552-- |J00 =
- 200 = [,232

1,22%2- 1 = 1,230

3. 8o18—7650= 35 4. no23—1414= |, 609

How can you adjust to subtract? Find the difference.

5. 12469 —10212= 9,095 F 6. 9I137—24677= 172, 4Co

7. 46,597 —4267=[]2,330 8. 84649 —126=3Y, 523

9. Arestaurant served ‘Ii_I_,_EEIEI meals in January and 13,039 meals
in February.(How many morefmeals did the restaurant serve in

January than in February? l L\ / Z Ol cl
~ 12 0 39

s

,/Q,%O

34
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10. The first night of a play 3,568 tickets were sold. The second
night 2,984 tickets were sold.'Eow many morg)tickets were sold

on the first night? - 2 Y
2, Bl 3
2,9 B Y

>
11. Extend Your Thinking What two different strate%es canL-’you

use to find the difference? How are the two strategies similar?
How are they different?

15736 —10302= 5, 4 244

12. Error Analysis Rafael and Sadia solved a problem by adjusting.
Which student solved correctly? Ex

Sadia: 9,798 — 6,098 = ? N\

\ ‘
9,800 — 6,100 = 3,700

Rafael: 9,798 — 6,098 =7

oo

9,800 — 6,096 = 3,704

Unit: 4 Page: 118 118 :dadal) 4 33l

@ Work Together

An apple costs 36¢. A banana costs 12¢. How many times as much
does an apple cost compared to a banana? Use a bar diagram and an
equation to represent and solve the problem.

e 9 ¢/®x 12 =34
3(0&Q5
36212 =73

swp P T
m |2 (lz J

C

S B
\Z/ZL‘\lgé 35
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What is the unknown number? Write a division equation to
represent the comparison. Then solve the equation.

1. 24 is 8 times as much as ?. 2. 20is ? times as much as &.
24 - B = 3 20 T S5 = (..{
! z 3 1 3 u
8,16, 24 5/10115,10
3. 18 is ? times as much as 6. 4. 16 is 4 times as much as ~.
2 =6=3 16 = 4= ¢
| T D 1 22 u

How can you represent the problem? Draw a bar diagram and
write a division equation to solve.

5. A piece of green string is 48 inches long. i@w many@
as long is the green string than a piece of red string that is

8 inches long? 2 A 3 =048
g = 8=G

3lele[3[d2) 42554

6. Ellie has 50 blue blocks. She ha‘? 5 times hs many blue blocks as
white blocks. How many white blocks does she have?

5% =50

oo lele) soz e = (6
\o

) S e =+ 2 QA
5|, \15/ fé/ Z‘*OIZS ’ BOKBS/L’\GIL‘[Szed
7. Charlie read 4 times as many pages as his sister. Charlie read
36 pages of his book. How many pages did Charlie’s sister read?

What equations represent the problem? Choose all that apply.

A. 36+4=7 B. 36 —4=7
C. 4x?2=36 D. 4x36=7
E. 7 -4=36 F. 36 -4=72

36
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8. Error Analysis Michael scored 80 points on a video game.

10.

".

12.

Alicia says his score is 4 times as much as her score. Michael
thinks Alicia scored 320 points. How would you respond to him?

HE 6%0%10{ d[lw'eA. RO =4 = 20

A rectangular garden is 3 times as long as it is wide. The length
of the garden is 9 feet. How wide is the garden?

A=> =72 ?(c'}

John ran 18 laps around the track. Sabrina ran 5 laps around the
track. John ran twice as far as Mika and Sabrina combined. How
many laps did Mika run around the track? Explain.

1252=9 ~p q-5=1
Cory learned that the airport is 5 times farther from his home

than the library. He knows the airport is 30 miles from home.
What is the distance from Cory’s home to the library?

30-5=6 miles

Extend Your Thinking Write a word problem about a

multiplicative comparison that you can solve using the equation
35 + 5=7. Then solve.

37
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What are all the factor pairs for each number?

1. 14 2. 65
| x4 %635
217 5% 13
3. 23 4. 64
| X2 | K6\ 8 K3
AL
HX L6
b. 32 6. 100
22 1X\oo loxlo
. X 25
X & 5 A 20
7. Adrian arranges 12 flowers. He puts the
same number of flowers in each vase and
can use up to 6 vases. What are two other
ways to arrange the flowers?
O L e
8. Setsuko is organizing 36 books in her bookcase. She Wén{Q
the same number of books on each shelf and can use up to
3 shelves. What are three different ways she can arrange her
books? . | / =
36 T (2 1 |2
/] |2
X 18 =3¢ > %iz=35
\8—\—\% =36 \2 x 12 -r\?-';}é
9. The soccer coach has 24 trophies to display in a cabinet. How

can she display the trophies in equal rows? Find all possible

arrangements. | X2Y 22X\ BZIXD

yx & ° 5 3x
6 X\ Yx | 2 % >

38
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10. STEM Connection Finn used 84 nails to build
7 shelves. Can Finn use 12 nails for each shelf?

Explain your reasoning. 7(6 5 . @

e gﬁ
11. Kiara arranges her collection of toy cars in egual S~

rows. She could place 30 cars in: 1 row of 30, 2 rows

of 15, 3 rows of 10, and 5 rows of 6. What other arrangements
could she show? Explain your reasoning.

30x |\
19 X 2
PRI

12. Ahmet is planting flower bulbs in his garden. Can he arrange
11 bulbs in 3 equal rows? Explain.

NO, J (O
10

_© s

0 |

1
13. Extend Your Thinking What numbe\%ss than 20 has 3 factor
pairs, but only 5 factors? Explain.

129 oY
1 X |2 1K |6
P K 6 X8
37((,\ HXU\

390
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Is each statement about the pattern true or false?

1. Start with 4, multiply by 2.

True | False

T e

All terms are multiples of 4.
All terms are multiples of 2. v

All terms are even numbers. L/

000006
. X X X F The 16th column will have k/
0000 3 dots.
= = = = = The number of dots in all \/

e @ @ terms is a multiple of 2.
@ @ @ The number of dots /
increases in each term.

R e
All side lengths are
multiples of 2. V
Each term increases by
1 row. 1/
The perimeter of each \/
term is a multiple of 2.

Use the pattern to answer exercises 4-6.
18, 24, 30, 36, 42, ..
4. Whatis the pattern rule?  Aolo| 6

5. What is a feature of the pattern that is not stated in the pattemn
rule? Explain why this feature exists.

Al are W\%l)ﬁp\es oP 6

/]H oe €ven .

40
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6. Can the number 72 be part of the pattern? Explain your answer.

)165/ 12 15 a w\wu{p\e o 6

7. STEM Connection Haley is in charge of the
telescope posts for students to view the stars.

She sets up the telescopes in arrays at each post
Analyze her arrays to answer the questions.

r LI -

r ‘.}?-""‘ﬁ R —

Tl S| e S
A=A A

a. What is the pattern rule Haley used to set up the telescopes?

2 1c(€¢3(0,9£5, U h\esconj f:?{a\_(ﬂ.ﬂg

b. What is a feature of the pattern not stated in the pattern rule?
EVen = U telescopes
O — 2 telescopes

If the pattern continues, explain what can you predict about
the 18th post in the telescope arrangements?

12 i5 even 5o i} wil e 4

te le scopes -
8. Extend Your Thinking Stacy creates a square with 2-inch side
lengths. She increases the length of the sides of the square by
1inch as she makes each new square. If she continues this

pattern, what would be the area of the 9th square? Explain.

~ Unit 5 ENDS
ZISIL]/ 5/ é/ 7'18/ C’\/\O
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How can you decompose the 2-digit number to solve? Complete the equation.

1. 6X82=7
6x(20 + 2 )=7?

3. 76X3=7
ax( 30 + & =2

. 9x8=7

ax( 0+ [ )=

. IxX45=7

IX( Lo+ 5 (=7

How can you decompose a factor and find the partial products?
Complete the area model and equation to show your work.

5. 7 X 52
50 + 2

7 350 14

IX52=(IX50)+(7x & )
7x52=350+ [Y
7x52=3¢ L

1. 5X 47

5x47=(5x 4o )+B5x + )

5x47=200 + 35
5x47=7 245

6. 4 X096

o + 6

4 260 24

ax96=(ax Y0 )+ xe6)
4%96=12340 +24
4x96=2QL|

. 3X29

0 i
5

L Q
3 o 7

3X29=(3x20 )+(3x 9 )
3IX20=6£p + 2F
3x29=Q J
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